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Ex.) Simplify the following expressions into a single logarithm:
a) log216 - log24 bl l0gs9 + 10ge8 - l0gs2 c) logz2 + logz3 - 10gz6 - l0g28
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d) logsx + logs2x - logsy - logsx? e) logs(a+b) + logs(a-b)
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= loﬂzltfz- lcbj:.s-s"‘3 = Z(\ogﬁ*\usl\ = los'xq -‘DS‘X

=|°ﬂ7-‘m; B Ioﬁzﬁ "2 00310) = L?))
’\0314"03?-2’ =21 =\ log ¥

n

E lojz(%) 0R_= 4lagX- loax

b )

Pg. 400 # 2-3.
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Ex.) Expand the following expressions:
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Pg.400#1, 5,7, 10-12.

More examples of Log Law questions:
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Ex.) If logs11 = p, what is the value of log.44 in terms of p?

= logy(11x4)
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Ex.) If log17 = k, rewrite the following in terms of k?

a) log170
= \o‘()(n"b}
= log\7 + log 10 = (K2 1)

=
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c) log(17/1000)
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Comparison Problems:
The Richter Scale 1=1,10R

Ex.) How many more times intense is an earthquake with R = 9.1 compared to R = 7.3?
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Ex.) An earthquake has R = 7.6 another is 300 times more intense, what is its Richter
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R = log 14




